N

- -
N~

.Eﬁ o st - .
M y ...4.m..:,?,_,//,//,y/_/.././,.m,,_
$ et ////////////////////////////.

/é,é%%zé%z////////g//

ii .. = —~ @...:.:: ¢.==E’
|

: el $
g A .__E__Esssgﬁﬁ} ‘
. .....:522/////

-

, I
Rt R R
el WLLLULUL S



https://www.pittman.ie

Semi Vertical Cycle Rack pi man

Specification Sheet

| —

The Snowden Semi Vertical Cycle Rack is simple
in design allowing the cycle stand allowing the
cycle stand to be used in an array of surroundings

-
L S

——

These can be arranged to store any number of
bicycles.

b —

—

!
'
|

|

e o —

P n
—
7)oy

T
i~
T p———
/ s ey 2

‘ ) - T NGy - O (==
“in

Price is based on per bike parking space.

UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk

IE: 015312777 | sales@pittman.ie | www.pittman.ie


https://www.pittman.ie

Features and Benefits

Cost Effective
Where space is at a premium.

High Quality
Designed to last through the construction and mechanisms. 1
year warranty as standard. 10 year warranty on the galvanising.

Secure and Safe
Each bike has its own individual locking loop.

Simple to install
Assembly consist of standard parts that can be extended or
relocated at any time

Finish
Galvanised to BS EN ISO 1461 as standard. We are also able to
offer a powder coated finish.

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk


https://www.pittman.ie

[ | ®
Detailed Drawings Example of 4 bay rack

1170

)
)

)
) [

1784

¢
[«
(
[

IE: 015312777 | sales@pittman.ie | www.pittman.ie UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk


https://www.pittman.ie

Upper Support Rall

"

Flt 1no M8 x 65mm fixing boits

@ Lower Suppoit Rall

FIt 1no M8 x 65nTm flxIng bolts

®

@ Upper Trough Bottom

F .
"

Flt 4no M8 x20mm fixIng bolt

Upper Trough Top

Note that trough
bracket s fixed
In front of upper
suppost rall

Fit 2no M8 x 20 flxing bolt

305

305
"‘1 305

IE: 015312777 | sales@pittman.ie | www.pittman.ie

© Lower Trough Top

u ®

@ Lower Trough Bottom

Note that plate Is
flxed In front of trough
bracket and upper
i rall

Flt 4no M8 x 20mm fixIng bolt Flt 2no M8 x 20mm fixIng bolt

@ Lower Support Rall Joln

FIt 1no M8 x 65mm & 1no M8 x 20mm
flxing bolt

Fully Installed
AIG

* L-Shapedleg suppot must be Included atleastevery 6 blke positons

Use 2 FixIng plates per join
({both upper and lower supportrals)

UK: 0121 630 3527 | sales@pittman.uk | www.pittman.uk



	Semi_20Vertical_20Bike_20Rack_20Spec_20Sheet_20IE.pdf
	Semi_20Vertical_20Bike_20Rack_20Installation_20Instructions.pdf



